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. Diagonails of a parallelogram qrengrpendliulqr
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. Arhombus is a parallelogram.
. A parallelogram is a trapezoid.
. Consecutive sides of a rectangle are congruent{%w)

. Opposite angles of a trapezoid are congruent.

Diagonals of a square are perpendicular.(PYD? DFS%\AOJ\L)
A rectangle is a quadrilateral.
A rhombus is a square.

Diagonals of a parallelogram are congruent.(rw{‘:/S’%wW)

l/ 10.Consecutive angles of a parallelogram are congruent. )
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b1 Diagonals of a trapezoid are congruenfusos ‘buqﬂ

12. Opposite sides of a rectangle are congruent.(?vu‘: UF “‘/{7)

{ 13.Base angles of a trapezoid are congruent(lSos t\raf)

14.Base angles of an isosceles trapezoid are congrueni.({hP of )

15.Opposite angles of a rectcmale are supplementary and
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congruent. 0pp &£'s ave

16.Diagonals of a parallelogram bisect each other. (?WF of 1 )

17.Diagonals of a kite are perpendicular. (‘mf "P kite)

T’ 18. Square is a quadrilateral.

*®-

Cool Beans

>>(n>u\(hu\(l\>>z_mz>([)

A
A
A




